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B.E/B.Tech. DEGREE EXAMINATIONS, NOVEMBER/DECEMBER 2009.
FOURTH SEMESTER
MECHANICAL ENGINEERING
ME 1253 — MANUFACTURING TECHNOLOGY — II

(REGULATIONS 2007)

Maximum : 100 marks

Answer ALL questions.
PART A — (10 x 2 = 20 marks)

‘Machining process is the most versatile process of manufacturing”. Mention
the factors to which its versatility can be attributed.

Which cutting fluid is used for the following?
(a) Turning titanium

(b) Light cuts on ferrous materials

(¢) Finishing aluminium alloys

(d) Heavy cuts on copper alloys.

A brass pin is of 500 mm length and 40 mm diameter. Find the turning time to
reduce the pin to 38.8 mm in one pass, when cutting speed is 60 metres/minute
and feed is 0.8 mm per revolution.

What is the difference between a ram type turret lathe and saddle type turret
lathe? What are their advantages?

For accurate working and obtaining the best results on shaper, what are the
settings to be done that should be ensured and tested properly before
proceeding to work on shaper?

Mention any four types of reamers.

Why are straight and round bores produced by honing process?

What are the general principles for selection of power hacksaw blades?

State the functions of CNC system.

What are the special features of compﬁter assisted programming?
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PART B — (5 x 16 = 80 marks)
How does one understand that the tool life has ended? Of the speed,
feed and depth of cut, which affects tool life maximum? (6)

Explain the mechanism of chip formation with a simple sketch.
Explain the conditions that promote formation of continuous chips

with builtup edge and discontinuous chips. (10)
Or
What are the disadvantages of using cutting fluids? (5)
In how many ways can a cutting tool fail? ‘ (4)
Explain the difference between surface roughness and surface
integrity. (4)
Write down the formula for calculating cutting force in orthogonal
cutting. (3)
With the help of a neat sketch, explain the thread cutting operation
done on a lathe. (10)
Briefly explain the taper turning operation by compound rest
method. (6)
Or

What are the advantages of automation and what factors should be
considered to justify its feasibility? (6)

Describe the construction and operation of a Swiss-type automatic
screw machine. (10)

Draw a neat sketch of a double housing planer. Indicate its

principal parts and explain its principle of operation. (12)

Write down different types of taps. How can a tap be compared with

a screw? 4)
Or

With the help of a neat diagram, explain the operation of milling a
square block. 9)

Write short notes on a slotting machine showing the slotted disc
mechanism. N
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What are the various factors to be comsidered in selection of
grinding wheel? Discuss each in detail. (12)

What type of imperfections left in machining operation can be

corrected by honing and what conditions cannot be corrected by

honing? How is it that honing can correct irregularities but grinding

cannot? 4)
Or

Briefly explain buffing and polishing operation. (9)

What are the precautions to be taken in broaching operation?  (7)

What is a CNC system? Explain the elements of CNC system with

the help of neat diagram. (9)
What are the features of NC machine tools? Explain (7N
Or

What are the various computer languages available for NC? (6)

Make a comparison between manual programming and computer
assisted part programming. (10)





